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EC=23.5u Slcm
Q=21.0 £/%

7B~
Tw=14.2°C
EC=19.4 u Sfcm
Q=100 £/%

D

Tw=15.2°C
EC=19.2 u Sfcm
Q=201 ¢/53

EC=18.6 1 S/cm
Q=288 ¢/%

Tw=10.9°C
EC=23.0 # Sfcm
Q=150 ¢/%

Tw=18.1°C
EC=20.4 1t S/cm
Q=136 £/43

Tw=11.8°C
EC=17.5u S/cm
Q=8.1 ¢/%

7

Tw=12.0°C
EC=20.2 4 Sicm
Q=210 ¢/%

EC=23.2 u Slcm

Q=174 4/%

7k

Tw=7.3°C
EC=15.6 ¢t Sfcm
Q=138 £/4
EC=13.6 1 Slcm

Q=100 ¢/%

EC=18.8 4 S/em
Q=39 £/%

Tws
EC=2

EC=17.9 £ S/icm
Q=313 /5

0.5 1 S/cm
Q=94 £/%
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T

EC=21.2 1 Slem
Q=342 £/5

Tw=9.6"C
EC=18.1 u Sfcm
Q=69 /45

Tw=9.1"C
EC=21.3 4 S/cm
Q=186 £/53
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